1. Okresl stopnie utlenienia pierwiastkow w zwigzkach:

K2Cr207,

K2CrO4,

KMnO4,

MnO2,

Mn304,

Na3AsO4,

HCN,

NH3,

NH4NO3,

N20!

NO2,



2. Uzgodnij reakcje redox. Podaj nazwe (nie symbol) utleniacza i
reduktora.

PbO + C = Pb + CO2
utleniacz:
reduktor:
Cu+ AgNO3= Ag + Cu(NO3)2
utleniacz:
reduktor:
Mg+ FeCl3 = MgClI3 + Fe
utleniacz:
reduktor:
Zn+ HCI= ZnCI2 + H2
utleniacz:
reduktor:
KMnO4+ K2S + H20= MnO2+ SO2+ KOH
utleniacz:
reduktor:
Zn + KCIOs + H2SO4 =  ZnSO4 + KCI + H20
utleniacz:

reduktor:



